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 1
2� 34 �5����� 67+��� &��$8 ������ ��� ��"����� ������� ����� � 6������ �"#$�� 34 9����� �28,35-27,5 GHz .

 ;<"�� =�#$� &'����� *��+�� 6�>�? ��,-�� �@�A4 34 �B?�7�� ./0 C�7�	2 �@�A4 34	 ���� 2;<"�� 34 6DE�  2 .
 ;<"F"� �>�? &�>/� %� GHI@1 ;<"�� � 6J
�$�� ��,-��� ;�5��� K��FL M�N	 1.  

  

J�OH� �>$>J�7�� ������� ��BP �4Q	��� �����H� R  

�����	
� � 
�� ��  

 S (  TD�8$��7�8�� �+5U � 
���
�� ����� ������ ���� ������ 6�>�? ��?$�$�V� 7>$�� W7X =YS  

Z(   ��B� �>$>J�7�� �����H� C��B�� 7[\�� �S1997) WRC-97 ( 
���
�� ����� ������ ���� &�]E�� ��5��7� /^�
� ������� ����� � _`����� 47,5-47,2 GHz	 48,2-47,9 GHzT  

a(   %� �-�F�` Z7�+� ��� ��`����� �2 G�7bY =YS47 GHz cO �?
��� ���"5�� � 7���� _0$�"� G�A7B� 7�LS �$V� 
 _F`7��737A.5	 543A.5 JJ7��� 9���� �8�
J c>7?S �+@ R�>$>J�7�� de�$"�� %� 32-18 GHz"� f7B��� ��Y�V�4 g<5�  h

 �>$>J�7�� ������� 
��` � ��A4 i�U(ITU-R)T  

 J(   %� �-�F�` Z7�+� ��� ��`����� �2 G�7bY =YS47 GHz �+@ R���"5�� jB� � 7���� _0$�"� G�A7B� 7�LS �$V� 
 ��B� �>$>J�7�� �����H� C��B�� 7[\�� kA	2000) WRC-2000 (�� ����� ������ ���� �����8� G�5��7� � 
���


 _`����� � ������� �����27,5l28,35 GHz	 31,3-31,0 GHz � G�
�A GH'��� �-�@ m5�� � f	7n � ���"5�� jB� � 
������ M"� %� �>�o m"��� �	 Rp7�E�� q������ ��N r7'2� ������ 	S ������� ����� �FbYS %� r7'2� 
�$Y2� 

) ��F`7��537A.5	 543A.5 %� $>J�7�� de�$�(T  

 0(   
�7+�� �S145 (WRC-03) &e����	 *8�+��� &e���	 ���+��� &e���� %� ��8�
J s�7?4 �"?�� 6
$�� m"U 
 _`����� � 
���
�� ����� ������ &�]E� D>�B� _�B� &?S %� ��F�b����28,35-27,5 GHz	 31,3-31,0 GHzT  

 	(   9����� �S28,35-27,5 GHz���"� 
t$�  ��"����� ������� �)1
Sls�I@ (TQ	S u�8S h"�  

 t(   9����� � 1
2� 34 
���
�� ����� ������ %� ���8
4 %� &'����� *��+�� ;e�7U J�X4 34 $��� �?�v� �S
28,35-27,5 GHzR1
2� 34 �5����� 7+���� 
���� � ��"����� ������� ����� &��$8 �H5+��� �   



������� ITU-R SF.1601-2  2

����  

1  Y�� ;<"�� � 6J
�$�� ��,-��� �����8� %Vw =1 34 
���
�� ����� ������ %� K�8
x� � &'����� r$��� 7>�+�� 
 1
2�)����!� �"#$�� ( 6������ �"#$�� 34 ������� ����� �)1
S ls�I@ ( &��$8 �����8�� ��"����� ������� ����� �

7��� 9��Y � 1
2� 34 �5����� 67+��� JJ28,35-27,5 GHzT  

2   ;<"�� y�B� �S ��
�Jz� %Vw2 ����� ������ %� ���8
z� ��{����� �|@�V�� �BE�� 6
�+�� �F�` 7>�+�� �+>7U 
 JJ7��� 9��Y � 1
2� 34 
���
��28,35-27,5 GHz s�A$I�� 34 &'����� �5�Y � ���B� 6J�>t m5�� �S �}�~ %� ���	 

(I/N) +��� ��� � ��"����� ������� ����� &��$8 �H51
2� 34 �5����� 7+���� 
��.  

3   ;<"�� � 6J
�$�� ��,-��� �S3 &'����� 6
�` 34 ���v� �?$�� �5�Y *��+� � �-�����8� %Vw (C/I) &?S %� 
%� &'����� r$��� �>�OK�8
4  1
2� 34 
���
�� ����� ������ ���� )� �"#$������! (1
2� %�	 R������� ����� �  

 s�I��� 34)6������ �"#$�� ( JJ7��� 9��Y � 1
2� 34 �5����� 67+��� &��$8 K�FB�8�� ��"����� ������� ����� �
GHz 28,35-27,5.  

  
  

 23�*�1  

�	���� ��� ������� ��	
� � ����
� ������ �� ���	��� ������ ������  
�#�*� ���+!	"�#�� ������ � &�'�()� ����" � �������� ������� ��	���  

!0���� ����1 �	���� ���  ,����� � -(.� $% �/�����28,35-27,5 GHz  

1  �����  

 &��$��� �FbYS � 
���
�� ����� ������ ���� ������ ��� ������� ����� %� &'����� *��+�� ��,-�� ;<"�� �/0 ��+>
7+���� 9����� � ��"����� ������� ����� � 1
2� 34 �5����� 628,35-27,5 GHz . �"#$�� � 9����� �/0 �����>	

 6������)1
Sls�I@ (1
2� 34 �5����� 67+��� &��$8 ������ ��� ��"����� ������� ����� ��bY � .  

2  �����	� 
����	 ���
��  

1.2  ������ ��
� ���� �� �������������� ����!   

 &VE�� _5>1 ��bY %� &'����� *��+�� 17���� &�"<��� aN$� HAPS1
2� 34 �5����� 7+��� &��8 �  . ������	  
 ��J�B��1 � &'����� 6
�` r$��� Z��v 1 MHz RI(g,h,b,r) ����� ���� ��� � &��8 %� ���+Y ���{ %� �~���� R

7+��� &��8 �-"5+�8� R
���
�� 1
2� 34 �5����� (g):  

  dB(W/MHz))),,((),()),,(()(),,,( rghGhgFSLbhgGFbPrbhgI rx
S

tx
H

loss

H ϕ+−ϕ+−=  (1) 

g�{:  

  P
H(b):   &87�� 6
�`&V� 1 MHz ((MHz/W)dB) ��� Ce�$0 &'�� HAPS ���<"� (b)  
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  FLoss :   W/]�� 6
��'(dB)  

  ),,( bhgϕ:   ���F��� �>	�t(degrees) ��� HAPS (h) ��� %� ���+Y ���{ m>$�� .��� _�  ����� �����
 
���
��(b)�	  1
2� 34 �5����� 7+���� &����(g)  

  G
H
tx)),,(( bhgϕ:   &87�� Ce�$0 m�L(dBi) 
���
�� ����� ����� ��� (h) C��e7�� 
$�� %� f�7�� �>	��� 

�0
��+�),,( bhgϕ  

  FSL(g,h):  6
���� 7v� s�$!� � (dB)� _�  1
2� 34 �5����� 7+���� &����(g) 
���
�� ����� ����� ���	 R(h)  

  θ(h,g,r):   ���F��� �>	�t)��?
���� ( 1
2� 34 �5����� 7+���� &����� ���(g) ��+�"� m>$���� .��� _� 
 1
2� 34 �5����� 67+��� ��"��8 ����� ���� ��B?7��(r) 
���
�� ����� ���� ���	 (h) 7bY� R

 &VE��2  

  G
S
rx(θ(h,g,r)):   &5+���� Ce�$0 m�L(dBi) 1
�� �5����� 7+���� &���"� (g)C��e7�� 
$�� %� f�7�� �>	���  

θ(h, g,r)  
  

 &VE��1  

������� ����! ���� �
" �� ������� #��$� %&�'  
(�)� *+ �	,���- .$�,� ���/ 0  

1601-01  
  

��� �� ���	

��� �� 
�	

��
��� ����� ���
���� �� �������

�����!�"#�$� �%��� ����� �&' 

�%&�( ��)�(b)

���� )*�� 

+�, �� 
�	 +�, �� ���	

��
�� -#�.  
 ���� �� �������(g) 
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 &VE��2  

(�)� *+ �	,���- .$�,� ���,� ��12.�� �
$�3� 4/��5 %&�'  

1601-02

HAPS

  

�����<"� ��B?7� ��+Y �>�O _B�> R1
2� 34 �5����� 7+��� &��8 ��� ���F��� �>	�t Z��v	 . k`$� ��B?7� ��+�L 
���	
1
2� d�8 h"� _B� .�� �S /e��� 17��> $� G�Fe�J =?$� 1
�� �5����� 7+���� &���"� ���+��� ���v� Ce�$0 �>��� .�


���� � ��e�I��� �5L7�� kA$� %� 7b��� j]� R��B?7�� ��+��� . &���"� ��e7� D� ��B?7�� ��+��� �-�@ �$V� ��� ���v� �	
7O �` ��B?7�� ��+��� �S 17��> R1
2� 34 �5����� 7+���� &����� $� 
���
�� �>	�t �$V� �S ��>7~ r7'S ��+Y 34 cL

�! �F�` �JS ��� 1
2� 34 �5����� 7+���� . &VE�� _5>	2C8��!� aN$F��� ��B?7�� ��+��� GH��~ K��F"� .  

 ��b�� C"�]E� $>
���8 34 G�J���8�	HAPS K�8
4 
���
�� ����B�� ����� %� ��� =�� %Vw W/��  � 6�>�� �"��{ ��?$�
 &��L � �?$� �S %Vw 
���
�� ����� ����� ��� ����!� �"#$"� 6�>�B�� �"��v� ��?$�� �S 17��> R���+Y ���{ &L

1
2� 34 �5����� 7+���� &����� ��� K�5+�8�� 9��Y 17� . &'����� %� yB>	Q�Px� ��bY %� HAPS ��7��� Isingle 
�5���� m��	 ������� �@��V�� 
$F� .
I(g,h,b,r)  ��Y ������ �S %Vw 
���
�� ����� ��� ��VF�� ���+��� ��v� k�F�

 ��J�B�� � _5�� $<��� h"� JJ7���(2).  

  
⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜

⎝

⎛

==
= ∑∑

b

b

h

h

I

n
rb,h,g,I

n

single

1

10

1

log10 )/10(  (2) 

 g�{bn
  

	 RJJ7��� ��Y ������ �S %Vw ��� ���+��� ��v� J�� 34 DE� hn� 34 DE�  
���
�� ����� ������ ���� J�
 ��bY �-�� �$V�> ���HAPS�{�	 .  

 �5�Y 7>�+� %Vw R��"����� ������� ����� 34 &�> W/�� &'����� r$��� 7>�+� J7,�	I/N Q���� $<��� h"� :  
 60)(log10/ −−=−= satsinglesinglesingle TkININI (3)  

g�{:  
 I/Nsingle:  $I�� 34 &'����� �5�Y s�A �>
�7v�(dB)  

   N :   � &����� &5+��� �>
�7v� s�A$I�� 6
�`1 MHz (dB(W/MHz))  
  k:

  

 ������$� c���(W/(K · Hz)) 

�%/0��� �&���� 

���� �� ������� 1��
��� -#����� ���� ���� �� ������� ��
�� -#�.
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  Tsat :
  

 ��"����� ������� ����� � 1
2� 34 �5����� 7+��� &���� ��b��� s�A$A 6
�7{ �?
J(K).  

7B� &'���"� �58��� �5�B� Z$��� Q�Px� &'����� r$��� �
�+> M�N �B� ��bY ��L �N4 �� �@HAPS G�
�A GH'��� m5�> 
 ����� ���"����� �������.  

2.2   �6��7 �� �������HAPS8�9�!   

 �FbYS 6�� �-�@ m5�� �S %Vw ���{ �E�� �`HAPS GH'��� �"��{ �1
2� 34 �5����� 7+��� _B� &��8  . %� yB>	
 �FbYS %� �~���� Q�Px� &'�����HAPS� 6�>��  �F�+��Imultiple &L %� &'��� r$��� &V� C"V�� 
$F�� %� �5����	 

 ��bYHAPS ��J�B�� � _5�� $<��� h"� 1
2� 34 �5����� 7+���� &����� � (4).  

 dB(W/MHz)

1 1 1

10log10 10)/(

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

= = =
= ∑ ∑ ∑

n n n
rb,h,g,I

multiple

s

s

h

h

b

b

I (4) 

 g�{sn �FbYS J�� 34 DE� HAPS  .�� ��B�� ��Y �-"@ ��J�B�� � r7'2� J	�v� ��S %� &'����� ���{ � .H�S 6
$L/

���
�� ����� ������ ���� ��{	 ��bY .  

 %� ��bY &L qe��' �����v� � ������ �S C]5�> R
���
�� ����� ����� 6�>�� ���� ���v ;�`J *��+� s�7?x	
 �FbYSHAPS .�v� %Vw R�FbY2� ./0 %� 7�LS	 �{�$� ���$"B�� ./0 7@�$� ��� ���	 &'���"� ��5>7+� �e��Y h"� K$

�� CB?7� ��bY qe��' �����8�� ������HAPS�����v� �  .  

 �F�` _�B� J7,�	Imultiple ��J�B�� � �-�����8� %Vw R(3) %� G��� Isingle��"����� ������� ����� h"� &'����� D��� *��+�� .  

3.2  �
-�:� �3���� 8��; 0 #<=���  

 &'����� &�> � 1
2� 34 �5����� 7+��� &���� 6������ �"#$�� � 
���
�� ����� ������ ���� ����!� �"#$�� %�
 � ����!� �"#$"� K�8
z� r$�+�� 6
�+�� �7~ 7@$� ��� =� K�8
4 �F�` h�`S 34 ��"����� ������� �����HAPS � 	S 

7��� �$+8 ���{ .� 6
�` � *V<��� �����8� ���	 ��bY � ����!� �"#$�HAPS �"#$"� ����Px� K�8
x� 6
�` ��@ R
$<��� $�� f	7n &n � j���� �S %Vw 
���
�� ����� ���� ��� ����!� . W/�� &'����� j���> RM�/� �,��Y	

 ������� ����"� ��e�I��� ���� � ���$<��� $�� f	7n &n � ��"�����.  

4.2  �>���� ��631�  

 �FbY2	 ��"����� ������� ����"� ��"B��� qe���� �����8� ;<"�� �/0 � 6J
�$�� ��,-��� ;5�� ��� &'����� ��8�
�� C]5�>
HAPS�07@�$� ��� �8�
��� ��`  .������� *�+�� �����8� t$X Rqe���� ./0 7@�$� ��� ���{ �	 :  

1.4.2  ���������� ����! ������ ��
" ?@  

 7bY� ��#$���IUT-R F.1569.  

2.4.2  ��3��,�� ��-�A�� ���B� ��C ?@���  
l  Tsat  :500 K.  
l   Ce�$!� ���{ 17�)6D]��� ���<F"� :(°0,3  
l   Ce�$!� ���{ 17�)�>�L7�� ���<F"� :(°2  
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l  Ce�$!� m�L : ��#$���ITU-R S.672 ;<"�� R1 R1
 (Ls = −20 dB).  

 �������1  

 �	
�
�1  

���
�� ���� �	
�� � ������� ������� 1  

1  ������� ��	
  

 ��bY �S 17���� %�HAPS  ����� %� J�� %� �$V�>HAPS &VE�� � _5�� $<��� h"� �"����� �{��� � &FB> 3 .
�t$� r7'2� ������ k�P �$V�	 Z��<"� aN$F��� �/0 � ��B?7�� ��+��� C0 �{���� �L7� � �B`�$�� ����� �$V�	 �

1
2� d�8 h"� �! �"��+�� Db��� ��+Y	 ��B?7�� ��+��� &�> W/�� ��� h"� WJ$F� r$��� h"� . ��+��� /'S ���	
 ������{z� &#S ��+�L ��B?7��y-x ����� �S 17��> =Y�@ Rr$���� M�N h"� HAPS ��V5~ ��+Y &L h"� ��$A$� 

 �������{4 �{��� �(Lx, Ly)R (Lx – Ly)R (–Lx, Ly)R	 (–Lx,  –Ly) .�N4	 ����� J���S �S G�I>S 17�@� HAPS 6J	�B�� 
 %>
$�� h"�x	 y R C0nx

   

	 ny �8�
��� ��` ����F"� C"V�� J�B�� ��@ RQ�$��� h"� nt d5�> Rnx × ny
  

) g�{nx
  

	 ny 
��>J7@ ��J�� .(������ ���� _� 6���5�� �@��� %� yB> 7E�"� aN$F��� �/0 �	�� 6
	�,��� 
���
�� �����  dx 	 dy 

 %>
$�� h"� ���+�x	 yQ�$��� h"� R . %� yB>	dx
 

	 dy  ��2Lx/(Nx – 1)	 2Ly/(Ny – 1) Q�$��� h"� .  

 
$�� .��� � k`�	 &'����� =�@ ��<�8 W/�� 1
2� 34 �5����� 7+���� &����� �S G�I>S 17��>	x Ce�$0 �S	 17���� 
 &�������B?7�� ��+��� $� G�Fe�J G�-?$� �$V> . �>	���� f7B�	α &VE�� � 4 ��B?7�� ��+��� ��� &����� 
���
� �>	�t �}�� 

 r$���� %� ���+�y-x.  

 6
�` J�� %� Q�Px� &'����� *�+>	nT
  

 ����� %�HAPS 34 s�A$I�� 6
�` �5�Y � ��� W/�� &'����� g�{ %� 
 R6
�+��I/NR ���"� 
���
�� �>	��� ����L 1
2� 34 �5����� 7+���� &α ������ ���� C�F��� 7E�"� ��"�� ���v R

&���"� ���F��� qe����	 
���
�� �����.  

____________________ 

1
  ������� �	�
ITU-R S.672���
����� ����� ���
��� ����� ������� �����  . � ������ ���! ��"#��� ����$� %	�
 &'#�()

��"
�*�� ��+�,�� ���-� ���/� �	�#� 0�#� 1�2) �#
�3�� �4�5� .6) �7&�
 89�/�+ :�; <�:� 0��=�>� ?@=Ls
 

10− dB A�) BC� ?� 
������� ���5� ���D .E��7&�
 89�/�( F'�� <�:$� ?G ��>�&��� ?� �(��� <��CH 0�"().  



������� ITU-R SF.1601-2  7

  

 &VE��3  

�	�
��� ����
 ����  

  

 &VE��4  

���
��� ����� ������ ���� ��� ����  

x

y

 

2  ������� �	
�� ��
��� ���� ���
�  

 ��#$��� � J7�ITU-R F.1569 9����� � 
���
�� ����B�� ������ ���� �FbY2 ���F��� ��F"B�� 28 GHz.  

������� ��	
�� 

�
 ���
��� ��	���� ������� �������� 
�	��� ����  

���� �
 ���
��� 

��� �����(HAPS)

!"��(HAPS)

�	��� ���� 
���� �
 ���
���

#�$��%� �&'�(α����� 
������� ��	
�� �
) *����

������� ��	
��
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 K	���1  

 ���
��� ����� ������ ���� !"��	(HAPS)  

�������  HAPS-1 HAPS-2  

 ������HAPS) ��	
��� �
���� ��� ((km)  20 20 

 ����e.i.r.p. ����� ����� � ������� ����� ����� �
� ������� 
!�"#� $%(1) 

&dBW 5  

 '*�� +�
� �20 MHz 

&dBW 5  

 '*�� +�
� �20 MHz 

 ������� ����� ,����� ,�
- �.� ��
�/ 012(2 Lx) (km)  1 000 600 

�
- �.� ��
�/ 3�� ������� ����� ,����� ,(2 Ly) (km) 1 000 600 

 �1�� 4"� ������� ����� ,����� ,�
- 5��(nx) x 11 9 

 �1�� 4"� ������� ����� ,����� ,�
- 5��y (ny)  11 9 

 ������� ����� ,����� ,�
� 6���� 5�	��(nT) 121 81 

��� ����� ,����� ,�
- 78 �9�:�� �1�� 4"� ����x (dx) (km) 100 75 

 �1�� 4"� ������� ����� ,����� ,�
- 78 �9�:��y (km) (dy) 100 75 

(1)    4"� ;1<�� !"�	�� =>1����397 ?@.�� � 7A�� ��
�� �/BC 3 ��D1<�� E/ ITU-R F.1569.  
  

3  ���� �� ����
�� ������ ����
� ���
�  
 K	��� � J7�2 ��F"B�  1
2� 34 �5����� 7+���� &�����.  

 K	���2  
 #�$� %& �'(���) ���(�� �
�(�� !"��	(GSO)  

�������  GSO-1 GSO-2 

 G�H��� I�*1* J���C �
�5(K) 500 500 

 !K�1L� �/BM ����� N�� �O<9 ),�
����8(  0,3 2 

 !K�1P"� ����� Q��� �R1S(dB) 

)Ls
 

 TO"�� � 1� E/  ��D1<�ITU-R S.672-4(  20– 20– 

!K�1P"� J$�U�� V:W  (dBi) (1) 55.0 38.5 

(1)  ��5�	�� G��X<S�8 �81:- Gmax(dBi) = 44,5 – 20 log θ ) θ  '*�� +�
�dBi 3–,�
����8 (  

4  �����!� "���#  

 �HVE�� _5>5	 6 *�` I/N "� ��$���1
2� 34 �5����� 7+���� &���.  

 %� dA�	 �F�` �S ��,-���I/N  &����� Ce�$! 6	
/�� m�L h"� D5L �{ 34 �F�B� 1
2� 34 �5����� 7+���� &���"�
&'����� 
��� $� G�-?$� Ce�$!� �$V> ����� 1
2� 34 �5����� 7+���� . �+�A ���{ �<�@ =� W/�� Ce�$!�@)°0,3 (

��� 
���
� �>�	t &+� ����� yLS GH'��� &5+��> ����e7�� ���v� &'�J 
���
�� ����� ������ ���� J�� �2 ��B?7�� ��+
�I����� 
���
�� �>�	t ��� J�J�>	 ����B�� 
���
�� �>�	t ��� G�J	�� �$V> . =� �$V� W/�� Ce�$!� ��@ Rr7'S �-? %�	

 k8	S ���{ �<�@)°2 ($8 �2	 Ce�$!� m�L 1���� m5�� &`S GH'��� &5+��> �}$V� �� �{ 34 ����� �$V� &'����� �>
 ���� 7E��� �{��� &��L C�]� J�V�HAPS����B�� 
���
�� �>�	�� �5����� �{ ��8�82� ���v� &'�J  . r$��� �F�B>	
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&'����� 6
�~4 
�E�Y� �@��� h"� G�8�8S &'����� . �F�` �S �e����� _5� R���v� ./! �5�����	I/N ���� &���"� 34 �5����� 7+
 %� &+� 1
2�l20 dB) %1 ( �S 17��> g�{ �>J�B�� &�]E��� f	7n � 1
2� 34 �5����� %>7+���� _"����� %� &V�

 �"5� 
���
� �>�	t 1
2� ����°20&���"� �5����� 7�LS 	S .  

 &VE��5  

�� ���*�HAPS-1) 121 HAPS ,
��'- ��.�(/ 100 km(  

0 10 20 30 40 50 60 70 80 90

–34

–32

–30

–28

–26

–24

–22

–20

–18

  

I/
N

 
�

��
� �

� �
�	


��

 �

��
�	

�� 
��

��
	

��
 

(d
B
)

  

������OSG-1)  ��	
� ���
(°0,3)

������OSG-2)  ��	
� ���
(°2)

� ������ ��� ������ ������ �����������) ��������(
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 &VE��6  

 ���*���HAPS-2) 81 HAPS ,
��'- ��.�(/ 75 km(  

0 10 20 30 40 50 60 70 80 90

–34

–32

–30

–28

–26

–24

–22

–20

–18

  
  
  

 �����2  

 ���	 
��
�������� ���� e.i.r.p ���� �� HAPS  
 �� ����� �HAPS ������ � ���� !� 28,35 - 27,5 GHz"  

�#$ %��& � 
��'� ()�*+ � ,I/N ��
&����- (./#��� 0$�1��� �2&/#  

��$���� 
#-�3�� 
�45� � ���� !�  

1  �$%���  

 $0 �+>7��� ./0 � &FB���� &'����� u��+�I/N ��"����� ������� ����� � K�5+�8�� ��b�� . � &'���"� 6J��� qe����	
J	 Ce�$!� m�L $0 ��"����� ������� ����� � K�5+�8� ��bY��b��� M�/� s�A$I�� 6
�7{ �?
 .  

����  �@��L 7>�+�� �+>7��� ./0 �����8�e.i.r.p %� ���8
z� HAPS %� .���� � HAPS �S %Vw ��� 1
2� 34 
 �F�` � ���B� 6J�>t m5��I/N 1
2� 34 �5����� 7+���� 
���� � ��"����� ������� ����� K�5+�8� *b��.  

2  ��&��
� '()  

 6J�>��� Z��{ C0 �+>7��� ./0 � 3	2� 6$��� ���B�� Rs�A$I�� 34 &'����� �5�Y �I/N � s�A$I�� 6
�` _�B�� R
 � s�A$I�� 6
�` �@��LK�5+�8�� ��bY &V� 17���� 1 MHz.  

 N = k T B (5)  

I/
N

 
�

��
� �

� �
�	


��

 �

��
�	

�� 
��

��
	

��
 

(d
B
)

  

������OSG-1)  ��	
� ���
(°0,3)

������OSG-2)  ��	
� ���
(°2)

������� ������ ��� ������ ������ �����) ��������(
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g�{:  
  k  :   ������$� c���(W/(K ⋅ Hz))  
  T  :   K�5+�8�� ��bY s�A$A 6
�7{ �?
J ��"����� ������� ����� �(K)  
  B  :   CB?7�� 9����� 17�(MHz 1)  

 �F�` ������ R������� 6$��� �I/N  &'����� 6
�` _�B�� �A7����(dB(W/MHz)) .  

 I = N + I/N (6)  

 6
�+�� ;@�� �@��L m�O M�N �B�(PFD) 34 �5����� 7+���� &����� 
��� � 17���� &'����� ���� ��� 1
2� :  

 PFD = I – GR + 20 log ( f ) + 21,45                dB(W/(m2 ⋅ MHz)) (7)  

�{g:  
 G  :

 

 C"B��� m�V��(dBi) ����� .��� � ��"����� ������� ����� K�5+�8� Ce�$! HAPS �55��� 
R&'���"�  

 f :  K�8
x� JJ7�(GHz).  

 �F�` �$V� R/e���e.i.r.p
4 k�P %� ����Px�  ���8HAPS���� 
���� � 6
�+�� ;@�� �@��V� �F�+�� ./0 ���� ���  7+
1
2� 34 �5�����.  

 (e.i.r.p.)total = PFD +10 log(4π ⋅ d2)                dB(W/MHz) (8)  

 g�{d  ���� _� 7���� �@���� C0HAPS��"����� ������� ����� &��8	  .  

��@ S�5�� g�{ %�	:  

                  dB(W/MHz)∑
=

−=
n

j

total
i

1

)e.i.r.p.(1.0
10log10)e.i.r.p.( (9) 

g�{:  
  (e.i.r.p.) j:  e.i.r.p. �� ���� HAPS j-th  

  n:   ����� ���HAPS �55���	
���
�  .  

R�S ���5��� 17]� 17@ �N4	  

 (e.i.r.p.)average  = (e.i.r.p.)total – 10 log(n)                dB(W/MHz) (10)  

�F�` J�X4 %Vw =Y�@ �8$�� ��5>7+� e.i.r.p. ���� &L %� HAPS.  

3   ����� �� �	
��

 �������HAPS�����

   

 �FbYS =55�� �` W/�� &'����� _�B� %VwHAPS+���� 
���� � 6J$?$�� ��"����� ������� ����� &��$8 �  34 �5����� 7
*�` �Y
�+� 1
2� e.i.r.p. K�8
4 ���e�$! C�"��	 �Y��� _���� � HAPS *�+� e.i.r.p. ���5�� Z��v� �+>7U %� ������ 

.H�S.  
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 �������1 

 �	
�
�2  

 �	
�� 
 ������� ������� ������ ����2  

1  �����  

� � �F-��4 
�E�� ��"����� ������� ����� C��bY h"� ��0 ���5�� ��?N$F��� �����v� W7� ;<"�1 67+��� 2.4.2.H�S  .
 ���{ �<��� K�5+�8� Ce�$0 R����e
 �>�L7� ���� %� &5+��> W/�� ��b��� $0	 _��b��� �{S �����>	°2m�L	  

dBi 39 . =���{ �<�@ �S 17���@ R��V� &L � 6J$?$� 6D]# _"FB��� i>
��� %� &5+��> W/�� R7'�� ��b��� ��S
°0,3 =5�L	 55,4 dBi .�>	 =�@ s�A$I�� 6
�7{ �?
J �"5� K�5+�8� ��bY =� _��b��� %� ��bY &L �S 17�500 K C0	 R

/������ 1�7�2 �0�>�O � ��� �8��v� �H5+��F"� ��"��[ �F�+L /��� 6
�7{ �?
J .  

 �FbY2 i��L 7EY J$?	 K���� �/0 17��>HAPS . ���{ �	&������� � 1
2� 34 �5����� 7+����  ��"����� ������� ���
 �0
�` Ce�$0 ���{ =� W/��°2 ����� %� &'��� ��
�~4 K�5+�8� 17��> RHAPS 34 �0J�� &�> 100����  . *��8	

 m�L ��N r7'S ��
�~4 &5+���8	 R����e7�� ���<"� hFbB�� m�V�� �F�` Z7` 	S ��� ��
�~x� ./0 jB� K�5+�8�
&`S .�8� *��8 =YS K���� �/0 17��>	 ����� %� ���� &L %� ��
�~4 K�5+HAPS �0J�� ���5�� 100 �8$�� ���� 

 
��+� &+> ��"����� ������� ����� Ce�$! m�L1 dB �"5> m�V� WS Rr$�+�� =�F�` %� 38 dBi.  

 �-A7� ���{ =� ��"����� ������� ����� � 1
2� 34 �5����� 7+��� &��8 ���{ C�@ R&����	°0,3�� rD8 R &`S G�J�� &���
 ����� %� D�V�HAPS ���v� 17� �-�@ �$V� ��� ���v�� �Y
�+� °2 �` J�� %� �"'���� ��
�~4 &5+���8 =YS 17��> R

 ����� �H� 34 &�>HAPS ����� h"� ��"�� m�L ��>$��� ��� &5+���8 �}S	 RHAPS ��� h"� i`$�� 
Ce�$!� . &L K�5+�8� �S K���� �/0 17��>	 ����� %� ����� ��
�~x� %� 6
�~4HAPS  �8$�� *�> f$8 �H��� 

 
��+� &+> ��"����� ������� ����� Ce�$! m�L1 dB �"5> m�V� WS Rr$�+�� =�F�` %� 54,4 dBi.  

 ���� Z7`S	 1
2� 34 �5����� 67+���� &��$��� 
��� _� �@���� /'��	HAPS&��$��� 
��� 
���
� �0
�5����  67+���� 
 ���5�� $"B��	 1
2� 34 �5�����20 km ����� HAPS (35 788 - 20 = 35 768 km) .  

2   ���
��� ���� ���� �
� ������

 ��!�"

 ���#�
 ���$%� ��& '�� ( �	
��

°2  

���<"� 6
�+�� i�Y �<�@ :°2,0  
&����� Ce�$0 m�L 6	
N :39 dBi  

P %� K�5+�8�� Ce�$0 m�L �8$�� ����� k�HAPS�"'�����  :dBi 38 = 1 - 39  
 ����� 17���� J�B��HAPS �0
��+� ���{ �<�@ J	�{ � �"'����� °2 :100 

K�5+�8�� ��bY s�A$A 6
�7{ �?
J :500 K  
CB?7�� 9����� 17� :1 MHz  

K�5+�8�� ��bY s�A$A 6
�` �$V� M�/�	 :  

 N = k T B = –228,6 + 10 log(500) + 10 log(106) = –141.61                dB(W/MHz) (11)  
 C0 K���� �/0 � &'����� 6
�` �S 17��	%1 ��@ Rs�A$I�� 6
�` %� I/N  �$V�dB 20- =10 log (0,01) .d5��	:  

 I = N + I/N = –141,61 – 20 = –161,61                dB(W/MHz) (12)  
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 6
�+�� ;@�� �@��L d5��   %�	(PDF)��� ��� ��� ./0 &'����� 6
�` ����8 
�:  
 PFD = (–161,61 – 38 + 29 + 21,45) = – 149,2                dB(W/(m2 ⋅ MHz)) (13)  

d5�� /e���:  
 (e.i.r.p.)total = –149,2 + 162,1 = 12,92                dB(W/MHz). 

 ����Px� &'����� 6
�` cF�` �N4	 ./0 h"�100 ���� HAPS �8 7��+ �-�� &L m��Y h"�  
12,92 – 10(log 100) = 12,92 – 20 = –7,08 dB(W/MHz).  

3   ���
��� ���� ���� �) *

 ������

 ��!�"

 ���+
 ( ,��-��.
 ��/0 1����� '�� ( �	
��

°0,3  

���<"� 6
�+�� i�Y �<�@ :°0,3  
&����� Ce�$0 m�L 6	
N :55,4 dBi  
�8�� Ce�$0 m�L �8$�� ����� k�P %� K�5+HAPS�"'�����  :dBi 54,4 = 1 – 55,4  

 ����� 17���� J�B��HAPS �0
��+� ���{ �<�@ J	�{ � �"'����� °0,3 :3   
K�5+�8�� ��bY s�A$A 6
�7{ �?
J :500 K  

CB?7�� 9����� 17� :1 MHz  
 RK�5+�8�� ��bY s�A$A 6
�` ��@ R.H�S 67+��� 
�7� h"�	 R  %�	N= -141,61 dB(W/MHz)  

 Rr$�+�� &'����� 6
�` �$V�	I= –161,61 dB (W/MHz)  
&'����� M�N 6
�+� �55��� 6
�+�� ;@�� �@��L d5��	:  

 PFD = (–161,61 – 54,4 + 29 + 21,45) = – 165,6                dB(W/(m2 ⋅ MHz)) (14)  

�$V� M�N h"�	:  
 (e.i.r.p.)total = –165,6 + 162,1 = –3,5                dB(W/MHz) 

 h"� ./0 ����Px� &'����� 6
�` cF�` �N4	3 ����� HAPSh"� 7��+�8 �-�� ���� &L m��Y ��@ R  
 –3,5 – 10(log 3) = –3,5 – 4,77 = – 8,27 dB(W/MHz).  

4  ����� �� �	
��

 �������HAPS���2   


x C�"��	 �Y��� _���� %� &'��� h�`S Z��{ %Vw �� ����!� �"#$�� ���8HAPS ��� 28 GHz ��F"B� %� 
 ��bYHAPS ��#$��� � 6J
�$�� ITU-R F.1569.  

 ���� &87� a7' 6
�` �"5�HAPS ¡G�A���� &�� 
���
� �>	�t =�	 _"FB���� i>
��� ���� *F�� R  
 34°26 R7��� f	7n � R1,8 dBW=A7� 9��Y � R 150 MHz�>/]� �"#	 6
��'	 R   
 �0
�`0,5 dB m�V� Ce�$0	 R16,4 dBi. 	 7��> M�N �F�` %�e.i.r.p. �0
��+� r$�` 17,7 dBW &V� 150 MHz .  

	S17,7 – 10 log 150 = (17,7 – 21,7) = −4 dB(W/MHz).  
 
��+� &+�8 C�"�� q���	 ��B5�� mY��� .��� � Ce�$!� m�L �F�` �S D�10 dB %� &`2� h"�   

 m�V�� �F�`C{�����(istropic gain)  . �F�` d5�� RM�N h"�	e.i.r.p ���� HAPS1
2� 34 �5����� 7+���� 
���� .����    
(–4 – 16,4 –10) = –30,4 dB(W/MHz).  

 _F�+�� � %>J
�$�� _����� �2	 3 �F�` &+� R.H�S e.i.r.p G�D�L 1
2� 34 �5����� 7+���� 
���� .����  ��>$���� %�
 67n���� %� ���8
x� rJ�7@ %�HAPS �]��5�� 1
2� 34 dB(W/MHz) 7,08–	S dB(W/MHz) 8,27– %� 7��� ���	 R

 �F�`I/N  %� &+�%1 ���{ �! ��� ��"����� ������� ����� &��$8 �  Ce�$0 �"5�°2,0	S  °0,3.  
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 �	
��3 

�� �� �
��!� �"��� ��#$ %��&�� ������ ��'�(� �)�C/I*�+��� *��, -�   
 .�/��0� ����1(HAPS) 2�3� �� )��5�6 �
78 (:�;�#� <�� ��5���� ���=� 
  

 *��,HAPS2�> ? @�AB)��1�7 �
78 (:�;�#� <�� ��
��#�� ��5���� ���=� 
  
 C����� 
 2�3� �� ��#���5 �D&�#� ����'GHz 28,35-27,5  

1 ����.
  

%� �$V> �`����  &'����� 34 �"��v� �?$�� �5�Y Z��{ &��$8 �V5E� ������� �"{7� � �) C/I ( �"��{ ��?$� _�
&'����� ��>$��� �>�O f�¢ �-�@ &'���� r7'S	 &'���"� �55�� ��V5E� . 34 �"��v� �?$�� �5�Y �����8� ��V�x��	

��� � *-�� ��� &'����� ��>$��� �>�O � &'������@�L &�VE��� ;e�7U � �-�����8� ��Y�V�4 %� GHI@ s�J2� �� .
 &'����� 34 �"��v� �?$�� �5�Y *��+� ���"F� h"� ���5� ��,-�� ;<"�� �/0 %FI�>	C/I �"#$�� %� &'����� 7>�+� ��+� 

� ������ ��� ������� ����� � ����!���� HAPS  ������� ����"� 6������ �"#$�� 34 67+��� &��$8 ������ ��� ��"�����
 1
2� 34 �5�����(GSO)  9����� �GHz 28,35-27,5.  

2 �	
��

 34 ����5
 �6�.
 7���� ��89��  

 &VE�� 7-b>7 17���� &�"<��� aN$� �5����� 7+��� 
��� WN &��8 � &'����� 34 �"��v� �?$�� �5�Y *��+�� 1
2� 34 
(GSO) ����� m5�� %� &'���� HAPS.  

  

 &VE��7 

��	
�  �
��� ������ ������ ���� ��  �������  

y

z

C

B

A

FSS GSO

�

rx, n

�

tx, n

  
  

������ ��	�� 
���
�� ����� ����� ���

��� ���  
�
�� ���

�
�� 

�
�� ��!�

"�#$%�� &'

(#��� &'=°0��)
* ���
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1.2 ���	��� �! �"#�$� �%�&� �'�* ����  

%Vwv� �?$�� �5�Y Z��{ ������ 34 �"�1
S �"��v� �?$�� 6
�` 6���7� k� &' l s�I@)6������ �"#$�� (�� � ������� ���
 &����� ������ ��� ��"�����C  34 �5����� 7+���� 
���� WN1
2� (GSO) ��e�I��� %���� %� ����Px� &'����� 6
�`	 R

 
���
�� ����� ������ ���� 6J�B���(HAPS)  &����� 34Itotal %FA  R&'����� =�@ ��� W/�� 9����� 17� �����8��
������� ��J�B��:  

     (dB)totalSatSatSEup IGFSLEIRP
I

C −+−=⎥⎦
⎤

⎢⎣

⎡
−/ (15)  

g�{:  
  EIRPup:   &'����� =�@ ��{ W/�� 9����� 17� � ��A
S ��� �"��{ �?$� ��{����� �|@�V�� �BE�� 6
�+��(dBW) 

  FSLE/S−Sat:   � D��� 6
��'s�I���&�����	 ��A
2� ���� _� 7v�   1
2� 34 �5����� 7+����(dB) (GSO)  
  GSat:  h�`S  1
2� 34 �5����� 7+��� &���� &5+���� Ce�$-"� m�L)dBi.(  

 �F�+"� ��"'����� 6
�+�� %� 7£5B¤>	Itotal  %�%���� ��� ��"����� ������� ����� � 
���
�� ����� ����� ��� 6J�B��� ��e�I��� 
 1
2� 34 �5����� 67+��� &��$8 &FB���(GSO) 9����� 17� � Q���� $<��� h"� &'����� =�@ ��� W/��:  

     (dBW)
⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
= ∑

=

h

h

n

h

I
totalI

1

10/)(
10log10 (16) 

��� nh ��<F"� ��e�I��� %���� J�� C0 HAPS 	Ih C0  ���� %� 6�{�	 ��e�I@ ����8 %� &'����� 6
�` �F�`HAPS 

34  &��8 ������ ��� ��"����� ������� ����� GSO  
��� WN�� �5����� 7+���1
.  

 ��<F"� ��e�I��� %��"� ���+��� ��v� J�B�� Ce�$!� 
�5��� ���	HAPS &'����� 6
�` m�O RIh ������� ��J�B�� �����8��:  

     (dBW)
⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
= ∑

=

−θ+θ+− −
b

SatHAPSnrxSatntxnHAPSfeedernHAPS

n

n

FSLGGLP

hI

1

10/})()({
,,,,10log10 (17)  

g�{:  
  nb:   ����8 h"� ���+��� ��v� J����e�I@ ��<F"� HAPS  

  PHAPS,n:  n-th K�8
x� 6
�` �#��� ������ ��<F"� ��e�I@ HAPS (dBW) 

  Lfeeder:   ����� ��� W/]� 6
��'����� 
���
�� (dB)  
  GHAPS,n(θtx,n):  n-thK�8
x� Ce�$0 m�L  ������B��� ��e�I@ � ��<F"� HAPS 
$�� %� J�B���� �>	��� �5����� 

θtx,n (dBi) 

  GSat(θrx,n):  n-th &5+���� Ce�$0 m�L &���"� 7+���� 5����� 34 � 
$�� %� J�B���� �>	��� �5����� 1
2�θrx,n (dBi) 

  FSLHAPS−Sat:   ��<F"� �B��� ��e�I@ ����8 _� 7v� s�I��� � D��� 6
��'HAPS 1
2� 34 �5����� 7+��� &��8	 
(GSO) (dB).  

2.2  �� ������	 
��	
 �������	  

�� � �@¥7¦B§�� &'����� 6
�` h"� K$�v� ��]� ��J�B)17 ( 
$�� %� J�B���� �>	�t Z��{ C]5�> Rθtx,n 	θrx,n . D��� 17]�	
 ��<F"� ���+��� ��v� k�P ������{4 &>$O *�> R
$�� %� J�B���� �>�	t Z��{HAPS��"����� ������� �����	  FSS %� 

$�8�� �' r$��� � �"������ �����{x� ��bY 34 ��5�+�� ������{x�1
2� �L7� ��� &#2� �$V>	 Rs�.  
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 ��7�� ��L �N4	A ��<F"� �B��� ��e�I@ ����8 %� =� =,��� $0 HAPS  34 �5����� 7+��� &���� ��"����� ������� ����� �
 R1
2� ��7��	B ���+��� ���v� �L7� %� =,��� $0 n-th ��<F"� �B����� ��e�I��� �����"� HAPS2� h"� �-��� 34  R1


���v� 
$� %� J�B���� �>	�t ��@ θtx,n  _�A 	B)  ��<F"� �B����� ��e�I��� ������� � u�+�HAPS( �����8�� �-�� yB>	 
������� ��J�B��:  

    degrees⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛ ⋅=θ −
BA

BA1
, cos
ntx

 (18) 

�FL	 &VE�� � s�? 7 ��@ |A| 	|B| ��,{S �H�w A 	B �4	 RA.BC"'���� ������ �¨ _-,£��  . �5����� RK���� &�58 h"�
�A 	B  �F-�� yB����@ �"����� ������{��  

  zzyyxx BABABA ++=⋅BA (19) 

r7'2� �>	���� h"� K$�v� ��V�x�� RK�v� M�/L	 θrx,n
 

 ��J�B�� �����8��(18)  %� K��5�8� KH'A	 B*�+���  �A 
	�C . �4 g�{�A8 ����� ���' %� =,��� $0  &����� 34 ��"���� 1
2� 34 �5����� 7+��(GSO) ��e�I@ ����8 34 �B��� 

��<F"� HAPS 	4 �C�� $0 � ���]� �L7� h"� ��A
2� ���� %� =,���� HAPS  %� &��8 1
2� 34 �5����� 7+���
(GSO)  ���� �������"��8.  

  

 �������1  

 �	
�
�3 

 �	
�� 
����� ������� �
� ����3 

1  ���� �����	HAPS 

K	��� _5> 3��F"B�   ��bY HAPS��������  �����{ ��E� K���� � (C/I).  

 K	���3  
 ������HAPS 

 ������HAPS (km)  km 20  

 ��	
� ���
�)����� ��� ((km) km 55 

���� ��� ��	��� ����� dBW 15,2– �� dBW 14,5– 

������ ��!"� #�$  ��%�&��ITU-R F.1569 

 '*
+� ���,-(dB) 0,5 dB 

 ��./0� ����1 ��� 2�.0� 3�45� 6	!��HAPS 367 

 &VE�� � %£�5¤� $0 �FL RK���� �/0 � ��V�x��8 %� J�� 7EY R ��e�I��� %���� h"� �+��� %� �B8�	 �{��� ���]��
1
2� . &L ��-� *�> �FLJ�B�� Ce�$¢ ��e�I@ ����8  ���+��� ��v�8S � �-"��+>7��� ���� . &L ��v Q�Px� J�B�� �"5>	
Ce�$0R Q�Px� J�B��	  &?S %� ��e�I@ %��� ;<"�� �/0 � &'����� Z��{ $0367 	127Q�$��� h"� R.  
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 &VE��8 

 
����� 
���� 
���!" �#$ %&' 
(�%)HAPS  

 

  
 

2  	 
��
��� ���� ������������ ���� �� ������� (GSO)  

 &��$��� ��bY ��F"B� �����GSO 34 
��` ��#$��>$>J�7�� �������  S.1328-3  ��� �5�Y Z��{ ��E� G���� dA$�
 K	��� � dA$� $0 �FL &'����� 34 �"��v� �?$��4.  

  

 K	���4  

������ *�	���	 +�,' GSO  

 ���,�� ������GSO km 35 768  

� 7,8 9�:; <�=�&>0� ����1���,  ������ ���� �.&?dBi 55 �@; A� °0,3  

 ������ ���� �.&?dBi 38,5 �@; A� °2 

������ #�$  ��%�&��ITU-R S.672 ) B�&��L
s

 :dB20−(  

�	D�% �0%E e.i.r.p. (dBW) dBW 66,1  

3 ����� !"���  

1.3  
��-	1  

 ���v� � 17���� %�1� &����� k`$� �$V> �S  K$��� �' ��� s�$�8�� �' h"� &'���"� 1¥7B�°0 ���{ �$V� �S	 
 ���� ���]� �L7� � G�Fe�J k+� ��� ��A
2� ���� $� G�Fe�J �-?$� &�����HAPS . ��bY �$V> �S 17��>	HAPS G�Y$V� 

 %�127 Ce�$0 k� ��e�I@ ����8 367 ��e�I@ ����8 &L ���' 7�` i�Y �$V>	 R6J�B�� ���{  $0 6�{�	km 55.  

km 55 
 ����� ���	
� 

���	
�1 

���	
�2 
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 &VE�� %� K���>	9  h"� ��bY �SHAPS  p7<�>Q�FE�� m�+�� .���� 34 �"��v� �?$�� �5�Y q`���� g�{ R�� &'���
C/I "� &��� 1
2� 34 �5����� 7+����(GSO).  

  

 &VE��9 


.�' C/I/�0	 12 
.�3��� 4%(��5	 *�	���	 �	65   
7.�� 127� 
���!" 
3�#$ ������ 
 
��HAPS)  
��-	1(  
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42
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58

  

  

2.3  
��-	2 

 ���v� � 17���� %�2 K$��� �' ��� s�$�8�� �' h"� &'���"� 17B�� &����� k`$� �$V> �S 0 ���{ %V� R�?
J 
 K$U �' ��� ��A
2� ���� 34 �-?$� &�����0�?
J  17� �'	 0�?
J ���� k+� �S RWS R c��� kA$� � ��A
2� 

s�$�8�� �' h"�.  

 &VE�� _5>	10  1
2� 34 �5����� 7+���� &����� � &'����� 34 �"��v� �?$�� �5�Y(GSO)�  ����� ��bY m5�HAPS 
 %� i���> W/��127�I@ ����8 ��e> �F�@ �17B�� �© ;"B . &VE�� %� K���>	10 ����� ��bY �S h"� HAPS$� =,�>  

 1
2� 34 �5����� 67+���� &��$�"� �"��v� �?$�� �5�Y �S	 RQ�FE�� m�+��(GSO) �>��  ���v� �,��Y h"� 1.  

�� 
�� ��� ��HAPS) ����( 

 ����� ����°0,3

 ����� ����°2

����C/I
127���!�"� �#
�� $�%&' �	* HAPS 
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 &VE��10 

 
.�'C/I/�0	 12 
.�3��� 4%(��5	 *�	���	 :   
7.�� 127 
����� 
���� 
���!" 
3�#$ HAPS)  
��-	2(  
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4 ��#$�  

 K��� &�>/��� 7-b¤>C/I  �+>7U)&'����� 34 �"��v� �?$�� �5�Y( %� &'����� 7>�+� ��+�  ���� ��e�I��� %����HAPS  �
 1
2� 34 �5����� 7+��� &��8(GSO).  

DbY h"� �B`�$�� ��A
2� ����  ���{ �	���� cª  HAPS)  ���v�1(�"��v� �?$�� �5�Y �F�` Ks�I�� Rk� &'����� 34  
6J�>t 
���
�� )1���� k� WS&����� 
���
� �>	�t R .( ��+Y � �B`�$�� ��A
2� ���� ���{ C�@ RM�N %� �VB�� h"�	

17B�� �' 6J�>t k� &'����� 34 �"��v� �?$�� �5�Y J�J�� Rs�$�8�� �' h"� �����.  

 �+>7U 6
	7I��� ��"� f$8	"��v� �?$�� �5�Y 7>�+� &'����� 34 � &?S %� ������� ����"� ����0 �"#	 %� &'����� 7>�+�
 ������ ��� ����HAPS 6������ �"#$�� 34 � � ������� ���� ��"����� �5����� 67+��� &��$8 ������ ���� 34 � 1
2

 9�����28,35-27,5 GHz �����  ��>$��� J£�<¤��J2� ����� � *-�� ��� &'�����S	 &�VE��� ;e�7U k�P /'S k� s ���

�5���� � ��
�~x�.  

�����������  

�� 
�� ��� ��HAPS) ����( 

 ����� ����°0,3

 ����� ����°2

����C/I
127���!�"� �#
�� $�%&' �	* HAPS 
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